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Chapter 2-Terms, Problems and Questions
A. Terms
	Bergeron process
	Canopy cover

	Canopy interception loss
	Cold front

	Creep
	El Nino

	Friction velocity
	Graupel

	La Nina
	Lake effect snow

	Leaf area index
	Logistic growth curve

	Orographic effect
	Riming

	Roughness length
	Saltation

	Shear strength
	Shear stress

	Southern Oscillation
	Stemflow

	Threshold velocity
	Throughfall

	Warm front
	


B. Problems

2.1. If the wind speed measured at 10 m height above a snow surface with roughness length of 0.001 m is 11 m s-1, compute the shear stress and determine if the force of the wind is sufficient to cause blowing snow if the surface shear strength is 0.9 kg m-1 s-2?  (Answer: ( = 0.297 kg m-1 s-2, no) 

2.2.  Compute the net mass flux of blowing snow in a region 550 m downwind from a large flat open field with available winter snowfall of 0.4 m water equivalent.  Assume climatic and snow conditions equivalent to those in Wyoming used in Equation 2.4.  (Answer: 181,557 kg m-1).

2.3.  Estimate the canopy interception loss as a percentage of snowfall, if the snowfall measured in the open after an event was 2.5 cm water equivalent and the total throughfall measured at numerous points beneath a plant canopy averaged 1.75 cm of water equivalent.  (Answer: 30%).

2.4. How much snow (mm) would a dry spruce forest canopy with leaf area index of 5 and canopy coverage of 93% intercept one hour after a snowfall with 0.55 mm water equivalent and a density of 100 kg m-3?  (Answer: S = 21.5 mm, I = 0.35 mm).

C. Questions

2.1 What are the stages for the Bergeron process of ice crystal growth in clouds?
2.2 What are the mechanisms responsible for uplifting of air masses in the atmosphere that can lead to snowfall formation?
2.3. What conditions are needed to initiate the blowing snow process? 

2.4. What are the three modes of transport for blowing snow?
2.5.  What is the significance of each parameter in the logistic growth function to the snow interception process?  
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